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8th Grade Short Answer Practice: Due Friday April 19th

Question #1
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Show all work


















Explain the steps you took to get your answer.





















Question #2:
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A computer can do 1000 operations in 4.5 x 10" seconds. How many operations
can be done by this computer in one hour? Express your answer in scientific
notation.









 

G r a de8Mathematics 4 CommonCoreSampleQuestions

D o main:ExpressionsandEquations I t e m:CR

Acomputercando1000operationsin4.5×10

–6

seconds.Howmanyoperations

canbedonebythiscomputerinonehour?Expressyouranswerinscientific

notation.

3

K e y :8×10

11

A l i g nedCCLS:8.EE.4

C o mmentary:ThisquestionalignstoCCLS8.EE.4becauseitassessesastudent’sability

t o p erformoperationswithnumbersexpressedinscientificnotation.

R a t ionale:Thecomputerworksattherateofthe1000operationsin4.5×10

–6

seconds,

o r

22.

×10

8

multiplicationspersecond(1000/4.5×10

–6

).Applicationoftheconversion

o f 1 hour=3600seconds[(

2 2.

×10

8

)x3600]givesthenumberofoperations(8×10

11

)

t h e computercancompleteinonehour.
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In the diagram below, AABC is similar to AART.

A (0,8)

(0,0)B C\(x0)

Part A: What is the scale factor from AABC to AART?
Part B: If the slope of ACis =2, what is the value of x for coordinate C?

Part C: Using the information from parts A and B, what is the length of RT?









 

Grade8Mathematics 8 CommonCoreSampl

e

Q u e s t i o n s

Domain:Geometry/ExpressionsandEquations Item:CR

Inthediagrambelow, ABCissimilarto ART.

6

PartA:Whatisthescalefactorfrom ABCto ART?

PartB: IftheslopeofACis–2,whatisthevalueofxforcoordinateC?

PartC: UsingtheinformationfrompartsAandB,whatisthelengthofRT?

Key:

PartA:

5

8

A R

AB

PartB: 4

PartC: 2.5

AlignedCCLS:8.G.4,8.EE.6,and8.EE.7b

Commentary:ThisquestionalignstoCCLS8.G.4,8.EE.6,and8.EE.7bbecauseitassesses

theconstructionandapplicationofasimilarityratio,thecreationofalinearequation,

andsolvingalinearequationwithonevariable.
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A computercan do 1000 apertions n 4.5 10° seconds, How many operstions
can b don by this compter in 0% hour? Expres your srewer n e




